£ 9
T o, Hak e ﬁ,,oﬁaw;vl the poof of Brownes fird W
Hhoowm 0 gwooth. [J"Iﬂl X)) o 2 and eatind it L

meh  te  gffoe S ]

&t 4

——

) Taove that B & @ x Wbt 2 Such Hak
2+ (i) (1193%) = 0.

2)?@% that mswﬁmwmumwm{oMMW%

IF Y 5 ontnactibl with Y 50, X, 2 gubwanifeldo (Com/mﬁ
Yk thol dun X ¢ don Z = i Y, Y intorseobin msimben
o Xomd Z w 0.
3)% Wﬂﬂ@mf?@JMﬁf otfen ‘ff\m‘f‘h M—WW
b coitraotible .
za &‘W jcx—b 5& o wostfe wilh Odaﬂu;»)(‘i&-.%"ﬂma/
Adbmanifilh 2 of m«mw dimrsion, T, (X,2)=0



5, Trove that S'owd e tuw T g not diffes wohiy.

~— e

Eﬁtfiﬂlﬁﬁ | Y ﬁMJJﬂ.-f/t -dmbmn#ln{af Qg ?RN WE @N
As Y i Cﬁmf;'w{‘ 7 ge)’ Choaeit &w

Pave ok w-y e ) < (Ty)




